Identities for Apostol-Type Frobenius–Euler Polynomials Resulting from the Study of a Nonlinear Operator

A. Bayad* and T. Kim**

*Département de mathématiques Université d'Evry Val d'Essonne, 23 Bd. De France 91037 Evry Cedex, France E-mail: abayad@maths.univ-evry.fr **Department Mathematics, Kwangwoon University Seoul 139-701, Republic of Korea E-mail: tkkim@kw.ac.kr Received August 10, 2013

Abstract. We introduce a special nonlinear differential operator and, using its properties, reduce higher-order Frobenius–Euler Apostol-type polynomials to a finite series of first-order Apostol-type Frobenius–Euler polynomials and Stirling numbers. Interesting identities are established.

DOI 10.1134/S1061920816020023

1. INTRODUCTION

For any complex numbers λ, u , where u differs from λ and 1, the Apostol type Frobenius–Euler polynomials $H_n(x; \lambda \mid u)$, in the variable x, are defined by the equation

$$F(t,x;\lambda|u) = \frac{1-u}{\lambda e^t - u} e^{xt} = \sum_{n=0}^{\infty} H_n(x;\lambda \mid u) \frac{t^n}{n!}.$$
(1.1)

The *n*th Apostol-type Frobenius–Euler number is given by

$$H_n(\lambda \mid u) := H_n(0; \lambda \mid u).$$

Note that

$$H_0(\lambda \mid u) = \begin{cases} 1 & \text{for } \lambda = 1, \\ \\ \frac{1-u}{\lambda - u} & \text{for } \lambda \neq 1. \end{cases}$$
(1.2)

The ordinary Frobenius–Euler polynomials $H_n(x \mid u)$ correspond to the special case $\lambda = 1$, so that $H_n(x \mid u) = H_n(x; 1 \mid u)$. Considering the following three relations,

$$\frac{1-u}{\lambda e^t - u} e^{xt} = \left(\sum_{n=0}^{\infty} H_m(\lambda \mid u) \frac{t^m}{m!}\right) \left(\sum_{k=0}^{\infty} \frac{x^k t^k}{k!}\right), \quad \lambda \frac{1-u}{\lambda e^t - u} e^{xt} - u \frac{1-u}{\lambda e^t - u} e^{xt} = (1-u)e^{xt},$$
$$\frac{1-u}{\lambda e^t - u} e^{(x+y)t} = \left(\sum_{n=0}^{\infty} H_m(x;\lambda \mid u) \frac{t^m}{m!}\right) \left(\sum_{k=0}^{\infty} \frac{y^k t^k}{k!}\right),$$
(1.3)

by equations (1.1) and (1.3), we obtain the following interesting identities satisfied by the polynomials $H_n(x; \lambda \mid u)$ and numbers $H_n(\lambda \mid u)$:

$$H_n(x;\lambda \mid u) = \sum_{l=0}^n \binom{n}{l} H_l(\lambda \mid u) x^{n-1}, \qquad (1.4)$$

$$\lambda (H(\lambda \mid u) + 1)^{n} - u H_{n}(\lambda \mid u) = \begin{cases} 1 - u & \text{for } n = 0, \\ 0 & \text{for } n > 0, \end{cases}$$
(1.5)

$$H_n(x+y;\lambda \mid u) = \sum_{l=0}^n \binom{n}{l} H_l(x;\lambda \mid u) H_{n-l}(y;\lambda \mid u),$$
(1.6)

$$\lambda (H(\lambda \mid u) + x)^{n} - uH_{n}(x; \lambda \mid u) = \begin{cases} (1-u)x^{n} & \text{ for } n = 0, \\ 0 & \text{ for } n > 0, \end{cases}$$
(1.7)

with the usual convention about replacing $H(\lambda \mid u)^n$ by $H_n(\lambda \mid u)$.

The Apostol–Bernoulli polynomials $B_n(x; \lambda)$ and Apostol–Euler polynomials $E_n(x; \lambda)$ are given by the series

$$\frac{t}{\lambda e^t - 1} e^{xt} = \sum_{n=0}^{\infty} B_n(x;\lambda) \frac{t^n}{n!} \quad (|t| < |\log(\lambda)| \quad \text{if } \lambda \neq 1, \text{ and } |t| < 2\pi \quad \text{if } \lambda = 1),$$
(1.8)

$$\frac{2}{\lambda e^t + 1} e^{xt} = \sum_{n=0}^{\infty} E_n(x;\lambda) \frac{t^n}{n!} \quad \text{for } \lambda \neq -1, \text{ and } |t| < |\log(-\lambda)|.$$

$$(1.9)$$

Throughout the paper, for the complex logarithm, we consider the principal branch.

In the special case $\lambda = 1$, $B_n(x; 1) = B_n(x)$ is the well-known *n*th Bernoulli polynomial and $E_n(x; 1) = E_n(x)$ is the *n*th Euler polynomial.

On the other hand, the interpretation of the Apostol–Bernoulli and Apostol–Euler polynomials in terms of Apostol type Frobenius–Euler polynomials is given as follows.

Lemma 1.1. For any positive integer n,

$$E_n(x;\lambda) = H_n(x;\lambda|-1) \quad \text{for } \lambda \neq -1, \tag{1.10}$$

and there are three equivalent ways to obtain the Apostol-Bernoulli polynomials $B_n(x;\lambda)$

$$B_n(x;\lambda) = \lim_{u \to 1} \frac{H'_n(x;\lambda|u)}{1-u} \quad \text{for any } \lambda,$$
(1.11)

where $H'_n(x;\lambda|u) = \frac{\partial}{\partial x}H_n(x;\lambda|u)$, or

$$B_n(x;\lambda) = n \lim_{u \to 1} \frac{H_{n-1}(x;\lambda|u)}{1-u} \quad \text{for any } \lambda,$$
(1.12)

or

$$B_{n+1}(x;\lambda) = -\frac{n+1}{2}H_n(x;-\lambda|-1) \text{ for } \lambda \neq 1.$$
 (1.13)

The polynomials $B_n(x;\lambda)$ and $E_n(x;\lambda)$ are related by the formula

$$B_{n+1}(x;\lambda) = -\frac{n+1}{2}E_n(x;-\lambda) \quad \text{for } \lambda \neq 1.$$
(1.14)

RUSSIAN JOURNAL OF MATHEMATICAL PHYSICS Vol. 23 No. 2 2016

BAYAD AND KIM

The Bernoulli polynomials and Euler polynomials play fundamental roles in various branches of mathematics including combinatorics, number theory, special functions, and analysis, see for example [5, 8, 11]. One of the most important formulas satisfied by the Bernoulli polynomials is Carlitz's relation for the product of two Bernoulli polynomials [1, 3],

$$B_m(x)B_n(x) = \sum_{r=0}^{\infty} \left(\binom{m}{2r} n + \binom{n}{2r} m \right) \frac{B_{2r}B_{m+n-2r}(x)}{m+n-2r} + (-1)^{m+1} \frac{m!n!}{(m+n)!} B_{m+n}, \quad (1.15)$$

where $m + n \ge 2$. In [9], Nielson established similar formulas for $E_n(x)E_m(x)$ and $E_m(x)B_n(x)$.

Moreover, in view of (1.15), Carlitz considered the following identities for the Frobenius–Euler polynomials:

$$H_m(x \mid u)H_n(x \mid v) = H_{m+n}(x \mid uv)\frac{(1-u)(1-v)}{1-uv} + \frac{u(1-v)}{1-uv}\sum_{k=0}^m \binom{m}{k}H_k(u)H_{m+n-k}(x \mid uv) + \frac{v(1-v)}{1-uv}\sum_{k=0}^n \binom{n}{k}H_k(v)H_{m+n-k}(x \mid uv),$$

where $u, v \in \mathbb{C}$ with $u \neq 1, v \neq 1$, and $uv \neq 1$ (see [2]). In particular, if $u \neq 1$ and uv = 1, then

$$H_{m}(x \mid u)H_{n}(x \mid u^{-1}) = -(1-u)\sum_{k=1}^{m} \binom{m}{k}H_{k}(u)\frac{B_{m+n-k+1}(x)}{m+n-k+1} -(1-u^{-1})\sum_{k=1}^{n} \binom{n}{k}H_{k}(u^{-1})\frac{B_{m+n-k+1}(x)}{m+n-k+1} +(-1)^{n+1}\frac{m!n!}{(m+n+1)!}(1-u)H_{m+n+1}(u).$$
(1.16)

From Lemma 1.1 and equation (1.16), we obtain Carlitz identity for Euler polynomials

$$E_m(x)E_n(x) = -2\sum_{k=1}^m \binom{m}{k} E_k \frac{B_{m+n-k+1}(x)}{m+n-k+1} - 2\sum_{k=1}^n \binom{n}{k} E_k \frac{B_{m+n-k+1}(x)}{m+n-k+1} + 2(-1)^{n+1} \frac{m!n!}{(m+n+1)!} E_{m+n+1}.$$

In this paper, we are interested in studying the sum of products of Apostol type Frobenius– Euler polynomials and in expressing them as linear combination of Apostol type Frobenius–Euler polynomials with simple coefficients. Our study is motivated by the following famous Euler formula. Namely, Euler proved the following identity on Bernoulli numbers.

$$\sum_{k=0}^{n} \binom{n}{k} B_k B_{n-k} = -nB_{n-1} - (n-1)B_n \quad (n \ge 1),$$
(1.17)

and its polynomial version

$$\sum_{k=0}^{n} \binom{n}{k} B_k(x) B_{n-k}(y) = -n(1-x) B_{n-1}(x+y) - (n-1) B_n(x+y) \quad (n \ge 1)$$
(1.18)

this was found by many authors, see [6].

For $N \in \mathbb{N}$, the *n*th Apostol type Frobenius–Euler polynomials of order N are defined by the generating function

$$F^{N}(t, x; \lambda | u) = \underbrace{F(t, x; \lambda | u) \times F(t, x; \lambda | u) \times \dots \times F(t, x; \lambda | u)}_{N- \text{ times}}$$
$$= \underbrace{\left(\frac{1-u}{\lambda e^{t}-u}\right) \times \left(\frac{1-u}{\lambda e^{t}-u}\right) \times \dots \times \left(\frac{1-u}{\lambda e^{t}-u}\right)}_{r- \text{ times}} e^{xt}$$
$$= \sum_{n=0}^{\infty} H_{n}^{(N)}(x; \lambda \mid u) \frac{t^{n}}{n!} \quad \text{for} \quad u \in \mathbb{C} \quad \text{with} \quad u \neq \lambda, 1.$$
$$(1.19)$$

In the special case, when x = 0, the polynomials $H_n^{(N)}(\lambda \mid u) := H_n^{(N)}(0; \lambda \mid u)$ are called the *n*th Apostol type Frobenius–Euler numbers of order N. Besides, the Apostol-Bernoulli $B_n^{(N)}(x; \lambda)$ and Apostol-Euler polynomials $E_n^{(N)}(x; \lambda)$ of higher order N are defined as follows:

$$\left(\frac{t}{\lambda e^t - 1}\right)^N e^{xt} = \sum_{n=0}^{\infty} B_n^{(N)}(x;\lambda) \frac{t^n}{n!},$$
for $\lambda = 1$, $|t| < 2\pi$, and if $\lambda \neq 1$, $|t| < |\log(\lambda)|,$

$$(1.20)$$

and

$$\left(\frac{2}{\lambda e^t + 1}\right)^N e^{xt} = \sum_{n=0}^{\infty} E_n^{(N)}(x;\lambda) \frac{t^n}{n!}, \quad |t| < |\log(-\lambda)|, \quad \lambda \neq -1.$$
(1.21)

The purpose of this paper is to study Euler type formulas for Apostol type Frobenius–Euler numbers and polynomials. Our results can be wieved as a reformulation of Euler's identities in the framework of Apostol type of Frobenius–Euler numbers and polynomials. Naturally, from our results, we deduce easily the Euler's formulae (1.17) and (1.18). This gives a new way of proving it. To state and prove the main result of this paper, we introduce and investigate some special nonlinear differential operators. In particular, we express them as a finite series of ordinary differential operators and Stirling numbers. From this study, we derive nonlinear differential equations. Then, we obtain some new and interesting identities for Apostol type Frobenius–Euler polynomials of higher order.

2. MAIN RESULTS AND THEIR PROOFS

We consider the function

$$f(t) := f(t, u) = \frac{1 - u}{\lambda e^t - u}.$$

Theorem 2.1. Let n, N be any positive integers. The function f is a solution to the following differential equation of order N

$$y^{N+1}(t) = \left(\frac{u-1}{u}\right)^N \frac{1}{N!} \sum_{k=0}^N |s(N+1,k+1)| y^{(k)}(t),$$

where $f^{(k)}(t) = \frac{\partial^k}{\partial^k t} f(t, u)$ and |s(N+1, k+1)| are the unsigned Stirling numbers of the second kind.

Proof. We prove this theorem by induction on N. For N = 1, we have the relation

$$\frac{\partial f}{\partial t} = -f + \frac{u}{u-1}f^2,\tag{2.1}$$

RUSSIAN JOURNAL OF MATHEMATICAL PHYSICS Vol. 23 No. 2 2016

thus,

$$f^{2} = \frac{u-1}{u} \left(f + f' \right), \tag{2.2}$$

and it is well-known that |s(2,1)| = |s(2,1)| = 1, see [4]. Thus theorem holds for N = 1. Let $N \ge 1$, we recall that the unsigned Stirling numbers |s(N,k)| of second kind are given by

$$\langle x \rangle_N = \sum_{k=0}^N |s(N,k)| x^k$$
, where $\langle x \rangle_N = x(x+1) \cdots (x+N-1).$ (2.3)

By the identity (2.3) and the relation $x\langle 1+x\rangle_N = \langle x\rangle_{N+1}$, the differential operator $\partial/\partial t$ satisfies the following equation

$$\left\langle 1 + \frac{\partial}{\partial t} \right\rangle_{N} = \sum_{k=0}^{N} |s(N+1,k+1)| \frac{\partial^{k}}{\partial t^{k}}.$$
(2.4)

Moreover, it is well known that the Stirling numbers |s(n,k)| satisfy the following nice recursion formula

$$|s(N+1,k+1)| = |s(N,k)| + N|s(N,k+1)| \quad \text{if} \quad N \ge k \ge 0,$$
(2.5)

$$|s(N,N)| = 1, |s(N,0)| = |s(0,k)| = 0 \text{ except } |s(0,0)| = 1.$$
 (2.6)

One can consult [4] for the properties of Stirling numbers. Now equations (2.1), (2.3), (2.4), (2.5), and (2.6) imply that the Theorem 2.1 holds.

Let us define

$$y^k(t,x) = y(t)^k e^{tx}, \quad y^{(k)}(t,x) = \frac{\partial^k}{\partial t^k} \left(y(t) e^{tx} \right).$$

Then, by Leibnitz formula, we obtain

$$y^{(k)}(t,x) = \sum_{m=0}^{k} \binom{k}{m} x^{k-m} y^{(m)}(t) e^{xt}.$$

Moreover, we can inverse this identity as follows

$$y^{(k)}(t) = \frac{\partial^k}{\partial t^k} \left(y(t, x) e^{-tx} \right)$$

again, we use the Leibnitz formula, obtaining

$$y^{(k)}(t)e^{xt} = \sum_{m=0}^{k} \binom{k}{m} (-x)^{k-m} y^{(m)}(t,x).$$
(2.7)

Hence, from equation (2.7), we can write

$$y^{N+1}(t,x) = y^{N+1}(t)e^{xt}$$

$$= \left(\frac{u-1}{u}\right)^N \frac{1}{N!} \sum_{k=0}^N |s(N+1,k+1)| y^{(k)}(t)e^{xt}$$

$$= \left(\frac{u-1}{u}\right)^N \frac{1}{N!} \sum_{k=0}^N |s(N+1,k+1)| \sum_{m=0}^k \binom{k}{m} (-x)^{k-m} y^{(m)}(t,x)$$

$$= \left(\frac{u-1}{u}\right)^N \frac{1}{N!} \sum_{m=0}^N \left(\sum_{k=m}^N \binom{k}{m} (-x)^{k-m} |s(N+1,k+1)|\right) y^{(m)}(t,x).$$

Thus, we obtain the following theorem.

Theorem 2.2. Let n, N be any positive integers. The function $y(t, x) = \frac{1-u}{\lambda e^t - u} e^{xt}$ satisfies the differential equation

$$y^{N+1}(t,x) = \left(\frac{u-1}{u}\right)^N \frac{1}{N!} \sum_{m=0}^N \left(\sum_{k=m}^N \binom{k}{m} (-x)^{k-m} |s(N+1,k+1)|\right) y^{(m)}(t,x).$$

From (1.1) and (1.19), we see that

$$f(t) = \frac{1-u}{\lambda e^t - u} = \sum_{n=0}^{\infty} H_n(\lambda|u) \frac{t^n}{n!},$$
(2.8)

and

$$f^{N}(t) = \underbrace{\left(\frac{1-u}{\lambda e^{t}-u}\right) \times \left(\frac{1-u}{\lambda e^{t}-u}\right) \times \dots \times \left(\frac{1-u}{\lambda e^{t}-u}\right)}_{N-\text{ times}} = \sum_{n=0}^{\infty} H_{n}^{(N)}(\lambda|u)\frac{t^{n}}{n!}, \tag{2.9}$$

where $H_n^{(N)}(\lambda|u)$ are called the *n*th Apostol-type Frobenius–Euler numbers of order N.

From (2.8), we have

$$f^{(k)}(t) = \sum_{l=0}^{\infty} H_{l+k}(u) \frac{t^l}{l!}.$$

Therefore, by Theorem 2.1, (2.8), and (2), we obtain the following theorem.

Theorem 2.3. For any positive integers n and N and any complex number λ , the following identity holds

$$H_n^{(N+1)}(\lambda \mid u) = \left(\frac{u-1}{u}\right)^N \frac{1}{N!} \sum_{k=0}^N |s(N+1,k+1)| H_{n+k}(\lambda \mid u).$$

For Apostol–Euler numbers, we have a reduction formula.

Corollary 2.4. Let n, N be a positive integers and λ a complex number, $\lambda \neq -1$. Then, the following identity holds

$$E_n^{(N+1)}(0;\lambda) = \frac{2^N}{N!} \sum_{k=0}^N |s(N+1,k+1)| E_{n+k}(0;\lambda).$$

Using Lemma 1.1, for any nonnegative integer N, we obtain

$$E_n^{(N+1)}(x;-\lambda) = (-1)^{N+1} \frac{n!}{(n+N+1)!} B_{n+N+1}^{(N+1)}(x;\lambda) \quad \text{for} \quad \lambda \neq 1.$$
(2.10)

Now Theorem 2.3 and Corollary 2.4 yield

Corollary 2.5. Let n and N be positive integers. Then

$$B_{n+N+1}^{(N+1)}(0;\lambda) = (-1)^N (n+N+1) \binom{n+N}{N} \sum_{k=0}^N |s(N+1,k+1)| \frac{B_{n+k+1}(0;\lambda)}{n+k+1}.$$
 (2.11)

RUSSIAN JOURNAL OF MATHEMATICAL PHYSICS Vol. 23 No. 2 2016

From (2.8), we can derive the following equation:

Therefore, by (2.12), we obtain the following corollary.

Corollary 2.6. For $N \in \mathbb{N}$ and $n \in \mathbb{Z}_+$,

$$\sum_{l_1+\dots+l_N=n} \binom{n}{l_1,\dots,l_N!} H_{l_1}(\lambda|u) H_{l_2}(\lambda|u) \dots H_{l_N}(\lambda|u)$$
$$= \left(\frac{u-1}{u}\right)^{N-1} \frac{1}{(N-1)!} \sum_{k=0}^{N-1} |s(N,k+1)| H_{n+k}(\lambda|u).$$

By Corollary 2.2, we obtain the next result.

Theorem 2.7. Let n be a positive integer. Then

$$H_n^{(N+1)}(x;\lambda \mid u) = \left(\frac{u-1}{u}\right)^N \frac{1}{N!} \sum_{j=0}^N \left(\sum_{k=j}^N (-x)^{k-j} \mid s(N+1,k+1) \mid \binom{k}{j}\right) H_{n+j}(x;\lambda \mid u).$$

Therefore, from the above theorem, we obtain a recurrence formula for the Apostol–Euler polynomials of higher order.

Corollary 2.8. Let n be a positive integer. Then

$$E_n^{(N+1)}(x;\lambda) = \frac{2^N}{N!} \sum_{j=0}^N \left(\sum_{k=j}^N \binom{k}{j} (-x)^{k-j} \mid s(N+1,k+1) \mid \right) E_{n+j}(x;\lambda).$$

From relation (2.10) and Corollary 2.8, we have also similar recurrence formula for the Apostol–Bernoulli polynomials of higher order.

Corollary 2.9.

$$B_{n+N+1}^{(N+1)}(x;\lambda) = (-1)^N (n+N+1) {\binom{n+N}{N}} \sum_{j=0}^N \left(\sum_{k=j}^N (-x)^{k-j} |s(N+1,k+1)| \right) \frac{B_{n+j+1}(x;\lambda)}{n+j+1}.$$
(2.13)

From Theorem 2.8, we deduce the following corollaries. For $\lambda = 1$ and x = 0, we have the following.

Corollary 2.10. Let n be a positive integer. Then

$$H_n^{(N+1)}(u) = \left(\frac{u-1}{u}\right)^N \frac{1}{N!} \sum_{k=0}^N |s(N+1,k+1)| H_{n+k}(u).$$

For $\lambda = 1$, we obtain a polynomial version.

Corollary 2.11. Let n be a positive integer. Then

$$H_n^{(N+1)}(x \mid u) = \left(\frac{u-1}{u}\right)^N \frac{1}{N!} \sum_{j=0}^N \left(\sum_{k=j}^N \binom{k}{j} (-x)^{k-j} \mid s(N+1,k+1) \mid\right) H_{n+j}(x \mid u).$$

From the above corollaries, we also obtain the following nonlinear recurrence formulas for the Euler numbers and polynomials:

Corollary 2.12. Let n be a positive integer. Then

$$E_n^{(N+1)}(0) = \left(\frac{u-1}{u}\right)^N \frac{1}{N!} \sum_{k=0}^N |s(N+1,k+1)| E_{n+k}(0),$$
$$E_n^{(N+1)}(x) = \frac{2^N}{N!} \sum_{j=0}^N \left(\sum_{k=j}^N \binom{k}{j} (-x)^{k-j} |s(N+1,k+1)|\right) E_{n+k}(x).$$

We also deduce the following nonlinear recurrence formulas for the Bernoulli numbers and polynomials.

Corollary 2.13. Let n be a positive integer. Then

$$B_{n+N+1}^{(N+1)} = (-1)^N (n+N+1) \binom{n+N}{N} \sum_{k=0}^N |s(N+1,k+1)| \frac{B_{n+k+1}}{n+k+1}$$

The polynomial version of this corollary is given by

Corollary 2.14. Let n be a positive integer. Then

$$B_{n+N+1}^{(N+1)}(x) = (-1)^N (n+N+1) \binom{n+N}{N} \sum_{j=0}^N \left(\sum_{k=j}^N (-x)^{k-j} |s(N+1,k+1)| \right) \frac{B_{n+j+1}(x)}{n+j+1}$$

REFERENCES

- 1. L. Carlitz, "The Product of Two Eulerian Polynomials," Math. Mag. 23, 247–260 (1959).
- 2. L. Carlitz, "The Product of Two Eulerian Polynomials," Math. Mag. 36, 37-41 (1963).
- 3. L. Carlitz, "Note on the Integral of the Product of Several Bernoulli Polynomials," J. London Math. Soc. **34**, 361–363 (1959).
- 4. L. Comtet, Advanced Combinatorics (Reidel, 1974).
- 5. K. Dilcher, "Sums of Products of Bernoulli Numbers," J. Number Theory 60, 23-41 (1996).
- 6. M. Eie, "A Note on Bernoulli Numbers and Shintani Generalized Bernoulli Polynomials," Trans. Amer. Math. Soc. **348**, 1117–1136 (1996).
- K.-W. Hwang, D. V. Dolgy, T. Kim, and S. H. Lee, On the Higher-Order q-Euler Numbers and Polynomials with Weight Alpha, Discrete Dyn. Nat. Soc. 2011, 12 (2011), Art. ID 354329.
- 8. H. Miki, "A Relation between Bernoulli Numbers," J. Number Theory 10, 297–302 (1978).
- 9. N. Nielson, Traite elementaire des nombres de Bernoulli (Paris, 1923).
- H. Ozden, I. N. Cangul, and Y. Simsek, Remarks on Sum of Products of (h,q)-Twisted Euler Polynomials and Numbers J. Inequal. Appl. 2008, 8 Art. ID 816129.
- Z.-W. Sun and H. Pan, "Identities Concerning Bernoulli and Euler Polynomials," Acta Arith. 125 (1), 21–39 (2006).